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	1
	Spot the pattern and fill in the gaps:
1 + 2 = ____
1 + 1 = ____
1 + 0 = ____
1 + -1 = ____
1 + ____ = ____
1 + ____ = ____

 (2 marks)


	2
	The temperature is now 2°C.
a) What is the temperature after an 8°C decrease?




............................. °C   
(2 marks)
b) If the temperature the day before was -3°C, what is the increase?




............................. °C     
(2 marks)



	3
	a) The temperature in Warsaw is -3°C. It is 4 times colder in Moscow. What is the temperature in Moscow?



............................. °C  
(2 marks)
b) It is 4 times colder in Antarctica in winter than in summer. In winter it is -24°. What would you expect the temperature to be in summer?



............................. °C    
(2 marks)



	4
	Work out the following:
a) -4 + +3 - +5 = ____

   
(2 marks)
b) 4 - +3 + +5 = ____

   
(2 marks)
c) -4 + -3 - -5 = ____

   
(2 marks)

	5
	Fill in the gaps. You must show how you worked it out.
a) -5 × ____ = -30 ÷ 2



 (3 marks)
b) (3 + -5) × (-12 - -8) = ____



(4 marks)
c) -32 ÷ ____ = (-4)2 

	
	
 (3 marks)


	6
	The fractions are equally spaced. What are the missing fractions? 






  
(6 marks)




image1.jpeg
% TARLETON




image2.png
@\\ H9-0 Document] - Microsoft Word - X
A Home | Insert  Pagelayout  References  Mailngs  Review  View  Add-Ins @
& at T e Hrina -
ﬁ o Calibri Bod) n -|a K (84197 | acsocooe| assoceoe AaBbC: aaBbce AQB 4asbce. aosbceoc aasbeen: A 2 Reploce
Pt omatpaimter || B £ U " she x, x' Aar[W - A | -|[By- i o| || thomal | 7N Spaci.. Heading1  Heading2  Titie Subtite | Subti En... Emphasis | | Change | o o
T Font B Faragraph B sty )| eiting

Pagei 101 Wordsi 1 < English United kingdom)





